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Question Number : 1 Question Id : 70819120464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819166541, LM LT 7]

g0 ]
70819166542, Lot

/ 1
70819166543. Sl

12 2
70819166544, LM LT 7]

Question Number : 1 Question Id : 70819120464 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 2 Question Id : 70819120465 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed “u” has head-on collision
elastically with another body ‘() having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to "2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819166545, Both A and R are correct and R is the correct explanation of A.

70819166546. Both A and R are correct but R is NOT the correct explanation of A.

70819166547 A is correct but R is not correct.

70819166548. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120465 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819120466 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocity is inversely proportional to its velocity.

mY0® >

to follow a trajectory such that the areal velocity is constant.
Choose the correct answer from the options given below :
Options :

70819166549, > ™Y
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Question Number : 3 Question Id : 70819120466 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 4 Question Id : 70819120467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \fg R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
K R
X | R Y
Options :
B GmM

70819166553, <

\,f_f{: - GmM
70819166554, ° K
1 GMhm

2 3
70819166555, V8 R

E\E i GMm
%
70819166556. - R“

Question Number : 4 Question Id : 70819120467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
VB GmM
70819166553, =/  R~°
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Question Number : 5 Question Id : 70819120468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘'m” and radius ‘a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options :

4

E maZ + 2mb?
70819166557.

—maZ+ 2mb?
70819166558, °

%ma2 + mb?
70819166559.

)
—ma-
70819166560. 2



Question Number : 5 Question Id : 70819120468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

4
gmaz + 2mb?2
70819166557.

gmaz + 2mb?2
70819166558.

ﬂ maZ+ mb?
70819166559.

—maz
70819166560.

Question Number : 6 Question Id : 70819120469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be :

Options :

o o o I B

Jix R/
70819166561.

3T(1_ 1)
70819166562, 1 ¢

70819166563, '



70819166564,

Question Number : 6 Question Id : 70819120469 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

a1 _ 1)
70819166561, 1 * K/

70819166562, )

70819166563, "

70819166564.

Question Number : 7 Question Id : 70819120470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :
o
70819166565,



70819166566.
.pE\'
70819166567, I
PK
70819166568, P

Question Number : 7 Question Id : 70819120470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

70819166565.

70819166566.

70819166567, I

70819166568. P

Question Number : 8 Question Id : 70819120471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

708191665609.

70819166570.

70819166571.

Question Number : 8 Question Id : 70819120471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 9 Question Id : 70819120472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature 6 at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 0, (as shown in figure) is given by :

...... 0
R, :
""" =t
R, &
0,
Options :
0;R5 + 0,Ry
70819166573, K1t Rz
04Ry + 0,R,
70819166574, J1 tR2
Ry — 05R;
70819166575. g
0,R, — 4R,
70819166576, 2 Ki

Question Number : 9 Question Id : 70819120472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
;R + 0,R4
70819166573, 1 T R2
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70819166574, 1 T R2
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70819166575.
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R,
70819166576.

Question Number : 10 Question Id : 70819120473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is i_nvc-rsc-l}-' proporfiona[ to B3, Its time
period of revolution will be given by :

Options :

b3 | e

TxR
70819166577.
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70819166578, | * R

70819166579, T=R?
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70819166580.

Question Number : 10 Question Id : 70819120473 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

b |

70819166577, © * R

4

3
70819166578, | * R

70819166579, 1 = R*

5

=
70819166580, | * R<

Question Number : 11 Question Id : 70819120474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K, are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

N

ra| =

70819166581.



70819166582.

70819166583.
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Question Number : 11 Question Id : 70819120474 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 12 Question Id : 70819120475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of the rod is a= T L.
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Options :
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Question Number : 12 Question Id : 70819120475 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 13 Question Id : 70819120476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C,, withC, > C v when connected in parallel,

the equivalent capacitance is T times the equivalent capacitance of the same connected in

.Cp_
series. Calculate the ratio of capacitors, a
Options:

2
70819166589, 19
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70819166590, 11
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Question Number : 13 Question Id : 70819120476 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 14 Question Id : 70819120477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
An alternating current is given by the equation i= ;'1 sin wl+ ;'2 cos wl. The rms current will
be:
Options :
o |
- [ + 1)
70819166593, V<

1 (i, + ip)?

= " 2
70819166594.'J§
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S [.:j | iz.?
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Question Number : 14 Question Id : 70819120477 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 15 Question Id : 70819120478 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Five equal resistances are connected in a network as shown in figure. The net resistance
between the points A and Bis :

D
R
R R
R \:\ B
E ‘“ﬁ“ C

Options :

2R
70819166597.

m|x.~'

70819166598.

70819166599, X
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Question Number : 15 Question Id : 70819120478 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 16 Question Id : 70819120479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :

70819166601. Image is virtual, opposite side of concave mirror.

70819166602, Image is real, same side of concave mirror.

70819166603 Image is virtual, opposite side of convex mirror.



70819166604. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120479 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819166601. I SE 9 3 G I 3.
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Question Number : 17 Question Id : 70819120480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options:

70819166605, | Mm

70819166606, U-/° mm

70819166607. U.50 mm



70819166608, U-22 mm

Question Number : 17 Question Id : 70819120480 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819166605, | MM

70819166606. 0.75 mm

70819166607. 0.50 mm

70819166608. 0.25 mm

Question Number : 18 Question Id : 70819120481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason K.

Assertion A :  An electron microscope can achieve better resolving power than an optical
MICroscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :
Options :
70819166609, Poth A and R are true and R is the correct explanation of A.

70819166610, Both Aand R are true but R is NOT the correct explanation of A.



70819166611. A is true but R is false.

70819166612. A is false but R is true.

Question Number : 18 Question Id : 70819120481 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 19 Question Id : 70819120482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A, are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of Ak is:

Options :

70819166613, / : 108



70819166614, / * 13

70819166615, 1 3

70819166616, + 2

Question Number : 19 Question Id : 70819120482 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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70819166615.
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Question Number : 20 Question Id : 70819120483 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"*Js and c=3 x 108 ms~ 1]

Options :
70819166617. h54 nm and red colour



70819166618. 654 nm and orange colour

70819166619. 1046 nm and blue colour

70819166620. 1046 nm and red colour

Question Number : 20 Question Id : 70819120483 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819166617, 0% nm d el XA

70819166618, 00+ nm @ TR X

70819166619, 1046 nm @ IGEIEEE]

1046 nm 9 & 49
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Question Number : 21 Question Id : 70819120484 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass \ﬁ kg is kept on a horizontal rough surface of

coefficient of friction ﬁ The critical force to be apphed on the vertical surface as shown

at an angle 60° with horizontal such that it does not move, will be 3x. The value of x will be

) g R s 8
[g=10 m/s; sin 60°= — 7 08 6" = E]
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Text Areas : PlainText
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5 to 5.001

Question Number : 22 Question Id : 70819120485 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{ Y

— A A
A boy pushes a box of mass 2 kg with aforce F =| 2074 10 | N ona frictionless surface.

4

[f the box was initially at rest, then
10 s.

_ m is displacement along the x-axis after

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001
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Correct Marks : 4 Wrong Marks : 0
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5 to 5.001

Question Number : 23 Question Id : 70819120486 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ s2 will be
__N. [g=10 mﬁsz]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120486 Question Type : SA
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TS A T TRIGEN S IR O ReR el Tevard 60 kg AGEI. WX AW qr@un
1.8 m/s? UHHAM TR Glell U 39l X AT AVER do Flel . N,

[6=10 m/s?]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120487 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—021 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x x 10 IN.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120487 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

U] THHAM TN T elldrars] aegae 0135 g/cm 3. @R AT TR Sl o
y=—021 sin (x+301) 3 9 Gl . W x 3 A T | Wbard . dRAA Jufer
dUId el xx 102N 3. x I ¥, (Arg Mffbde e )
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120488 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10 latm. Valueof xis

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819120488 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T Wi 3 PE G4 $of 3. Uigedl D& JHRAN 4.5 fefey 3¢ T 01 D&M
5.5 fefeY e, Ufecdn HE 2.0 IAERITAT I[N 3.0 Hiel 99 WReiell € 9 U1 BEW
3.0 TRV ST 4.0 Fiel Y WReiell 1. fIUTSH Precama] A0 Tl Fel. Ao
FHeTen WA WHdE a9 xx 107! IER &, x @ A aere.

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819120489 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
field at Pis xx10"1V/m. Valueof xis ___ . (Rounded-off to the nearest integer)

[Take £,=8.85x10"12C2N"1m~2 ¢=3x10° ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819120489 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1000 W B YRYT Seduild del 4 o 2 m HeR1aY Sdeicdl P figav fagd &1 9 9o & TR
Y. Gl RIS 1.25% 3. P AY Rraw fagd &5 8 xx 107 1V/m &8, x 9 9

Hd. (Ira ffHfhde 3 9muvd)

(B £,=8.85x10"2C2N"1m~2 c=3x108 ms™}]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 27 Question Id : 70819120490 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.

The workdone by the battery is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

J

Question Number : 27 Question Id : 70819120490 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

g uRuer, dedt Wigd @ faeiean fafie 9 20 C T9R Uefden. dedi=a 3 ugamdi

fqvaiar 15V Sdel. ¥edm delel B
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

] .

Question Number : 28 Question Id : 70819120491 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

I .
Dy 1300
> AN
" 100 0
N W
| 1200}
| | AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120491 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
SEdeTedl URYIE SF SIS Y1 50 ) 91 RAT U 30 gobd Y 3. TR el

@leedl 6 V 318 T 120 Q Ve SR eRr mA .
D 1300
A A
qu 1000
I~ W
| 1200
I: AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120492 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x x 10~ 2 The value
DL

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120492 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HAH YR TRAIG] HEwH 9 STged dM 16V G 8V AHH 3ed ol JH JIRdw
TS SuRadd Fewie xx1072 o, x99 4@ 3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120493 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change willbe .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120493 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LCR TaIdicl Aeield URTYT, 07 3(9d 100 31 Hiofell WX IRl SH U¢ digfdedl 9 X1y
SF TC Bl Fell T T 9501 HedY U1 HG4q Il

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191906
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911186
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The orbital having two radial as well as two angular nodes is :

Options :

3p
70819166631.

70819166632, 4d
70819166633, 4!

70819166634, >d

Question Number : 31 Question Id : 70819120494 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :

3p
70819166631.

70819166632, 4d



70819166633, 4!

70819166634, °d

Question Number : 32 Question Id : 70819120495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

70819166635, Both A and R are true and R is the correct explanation of A
70819166636. Both A and R are true but R is NOT the correct explanation of A

70819166637, ‘v 1S true but R is false

70819166638, \ 15 false but R is true

Question Number : 32 Question Id : 70819120495 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Glefl 3 faum feeiell #ed. U@ fauM A 9 gH SNV R 39 6.

e A: egra dure FHdHe ba fgge-Taya smaafbal fod wad srvsagal sramgfnal
.

BRI R : TR & WA W fdegaRy qeiwed 3Mf1 HF 980 gdgloid 94 WA 3ied.

el [AYFIAR el TEEMeT a¥ey e .



Options :
20819166635. Sl A 30T R 99EY 3ad 30T R A d SXEY WCIHIU 3B,

20819166636, 7o A ST R SRIER 3fed URg R & A o TSI e,

70819166637, A TUIT 3ME TG R G e,

20819166638, A 3P #E WY R TR 3Te.

Question Number : 33 Question Id : 70819120496 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-1L

List-1 List-11
Electronic configuration AH in K] mol ~1
of elements
(a) 1s%2s2 (i) 801
(b) 1s?2s?2p? (i) 899
(c) 1s22s22p? (iii) 1314
(d) 1s%2s? 2pl (iv) 1402

Choose the most appropriate answer from the options given below :
Options :

70819166639. (@) — (i), (b) — (iv), () — (iii), (d) — (ii)

20819166640, (& = (), B) = (1), (¢) — (i), (d) — (iii)

70819166641, (@) —= (ii), (b) — (iii), (c) — (iv), (d) — (i)

70819166642. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120496 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST 1 =1 A1) 11 SRIE S ol

At 1 el 11
(Het==gid Selderl Wauvl) (A;H kJ mol ~1 7&)
(a) 1s%2s? (i) 801
(b) 1s22s22p* (i) 899
( 1s22s22p3 (i) 1314
(d) 1s?2s22p! (iv) 1402

Eeflel T a_er 9% el
Options:

70819166639. (@) — (i), (b) — (iv), (¢) — (i), (d) — (ii)

70819166640, (@ = (), (b) = (i), (c) — (i), (d) — (iii)

70819166641 (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)

70819166642. (@) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120497 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11

(Ore) (Element Present)
(a) Kemite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine

(d) Cryolite (iv) Zinc

Choose the most appropriate answer from the options given below :
Options :



70819166644, (@) = (i), (b) = (1), (¢) — (ii), (d) — (iv)

20819166645, (@ — (i), (b) = (iv), () — (i), (d) — (iii)

20819166646, @ — (1), (b) = (iid), () — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120497 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST 1 SRR ATE 11 =0 S ol

a1 A 11

(arg®) (3Tt Yeisr )
(a) @HYART i fes
(b) dfiese (i) WRM
() Do (iii) TIRA

(d) PHEARS (iv) &
Eeld YIiamegd a¥Er SOY 9.
Options :

20819166643, (@ — (ii), (b) = (i), (c) — (iv), (d) — (iii)

70819166644, (@) — (iiL), (b) — (i), (c) — (i), (d) — (iv)

20819166645, (@ = (#), (b) — (iv), (¢) — (1), (d) — (iii)

70819166646, @ — (. (b) = (ii), (¢) — (iv), (d) — (ii)

Question Number : 35 Question Id : 70819120498 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :

Options :
70819166647, 4+ and B only

70819166648, *+ and C only

70819166649, **and D only

70819166650, ‘- Band Conly

Question Number : 35 Question Id : 70819120498 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

W Uraiqed Erell faur faell smed.

A, = F=vRa ARG WS UvgEl SUAT gl HfAfhIT Hd.
B. Umgrgr HEN fIgd JUHSAUNT WE Ul TR Hea.

C. IS UUgrEl Scheidic WIEd] UUAgE W< 37l

D. H,0O = fasdfaar D,O Y& Wi 38,

el TSeicdiys] aReR g1y Fasl.

Options :

70819166647, A S0 B B

70819166648, A 3T C Had
70819166649, A MU D Had

70819166650, A B 0T C Had



Question Number : 36 Question Id : 70819120499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
I‘\IH3 F A CDE — {NH4JECC13

{NH4]2C03 | I—IZD +B — NH4HCC13
NH4HCC13 + NaCl — NI—I4CI FC

Options :

20819166651, * H20 ; B~ 0, €~ Nay(O;

20819166652, 1120 7 B~ 0y ; €~ NaHCO,

70819166653.

70819166654, G B =

Question Number : 36 Question Id : 70819120499 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Glefldl JfUfHad A, B 0T C 9ive.
NH; + A +CO, — (NH),CO,
(NH,),CO, + H,0 + B — NH,HCO,
NH,HCO; + NaCl — NH,Cl+C

Options :

20819166651, » H20 ; B~ 0O, €~ Nay(O;

70819166652. A-H0 ;B-0,; C~NaHCO,

70819166653, 1ot et Ehy ¢ = NabO,



70819166654, . : =

Question Number : 37 Question Id : 70819120500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options:
70819166655, PbO

70819166656, | °O2

70819166657, | P34

PbSO,
70819166658.

Question Number : 37 Question Id : 70819120500 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

YT A S Ud T Sicass SFeidNs UM duvan. o R SareE 16 91 38 @™
S|

Options :

70819166655, PO

70819166656, | 02

70819166657, | P3P



PbSO,
70819166658.

Question Number : 38 Question Id : 70819120501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MDZ ?
[M is lanthanoid metal]

Options:

70819166659, Nd

70819166660. °Y

70819166661, LT

70819166662, YD

Question Number : 38 Question Id : 70819120501 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

GrRAleys! DIV e-aMEs MO, TR &Y e ? (M -IMigs 1 37e)
Options :

70819166659, Nd

70819166660. 2

70819166661, LT

70819166662, YD



Question Number : 39 Question Id : 70819120502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :
Options :

70819166663 protects us from the UV radiation

70819166664 protects us from the X-ray radiation

generates photochemical smog
70819166665.

protects us from greenhouse effect
70819166666.

Question Number : 39 Question Id : 70819120502 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
CIURG3R Hee Sl R

Options:

20819166663, ¢! SCHIE THRUMIRET &0l 2.

20819166664, 2T9e1 X-THRUIMURTT &0 2rd.
70819166665, IPENTHAN® HENR TIN 2Idl.

70819166666, JTierd URUIMIURT M0l &0 24,

Question Number : 40 Question Id : 70819120503 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be separated b1 simplr_- distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options:

70819166667. Both Statement | and Statement Il are true

70819166668. Both Statement I and Statement 11 are false

70819166669. Statement 1 is true but Statement 1l is false

70819166670. Statement 1 is [alse but Statement 11 is lrue

Question Number : 40 Question Id : 70819120503 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el S fqur foelell amed

fum1: e ot FEReH 7 fEw Wen SEIaTE T B 4.

fem I SfFfer T g MEgT 9% GeEuar e 9 Sar dHfer @

FhHIGIA el I, AT,

Il [AUFTER Seliel TaiamegT 4 SwX 9.
Options :
70819166667, SIel A& 1 ST 11 SRIER 3fTed.

70819166668, a2l fqur 1 anfor 11 gara .

20819166669, 198 1 SIS 3 WY A8 1l g e,



70819166670, 195 1 P 3¢ TG fa&rT 11 TR 3ME.

Question Number : 41 Question Id : 70819120504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819166671 Carius tube is used in the estimation of sulphur in an organic compound.

70819166672. Carius method is used for the estimation of nitrogen in an organic cnmpnund.

70819166673 Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

Phosphnric acid prnduced on oxidation of p]msphoms present in an organic compf}und

70819166674, is precipitated as MgEPEDF by adding magnesia mixture.

Question Number : 41 Question Id : 70819120504 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gefdts! SV faue | & ?

Options :

70819166671, DI HYMAIe Hebvear FERUIE HReE egaar SwrT 2.

20819166672, PN TR TRErTTe FEROTEET SR Tgedal I 2.

70819166673. A HME A=l FMERUEE Siefsd Ugardl SRl 2!,

Y

GIEHRE el BTal Gl ATFSIHIRE GIehRe Al TR 2dhT A
Fifan A9 Tibel 3l Mg,P,0, 3@ 2.

70819166674.



Question Number : 42 Question Id : 70819120505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH =CHBr 1. NaNH,
| . = ®
CH, 2. Red hot iron tube, 873 K (major product)
What is ‘A" ?
Options :
(EH= CH—-NH,
CHj
70819166675.

CH.CH,CH,NH,
70819166676. e e L

70819166677. :

H,C CHj,

CH,
70819166678. :

Question Number : 42 Question Id : 70819120505 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



feetean sfafeaS!

L|'H=£H"'r 1. NaNH,

_ - (A)
CHj 2. T el ArE ST T 873K (W S1S)

Id TgE 9IS ‘A’ B e 7
Options :
CH = CH - NH,

-

CH,
70819166675.

CH,CH,CH,NH,
70819166676. - - - *°
70819166677. :::
H,C CH,
CH,
70819166678. ‘

Question Number : 43 Question Id : 70819120506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CH,4
- - Bl’z , "'.h’
TR T 1 '} i
UV light (major product)
monobrominated

CN
What is “A’?
Options:

70819166679.



CH,CH,
Br

CN

CH,CH,4

CN
70819166680,  Br

CN
70819166681.

Br CN
70819166682.

Question Number : 43 Question Id : 70819120506 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
el fEefedn AfHfepIAra!

CH,CHy -
2 > ‘A
et fevor (v sam=)
TH ST i

CN
qid ‘A’ ST A 7

Options :



H,CHj,

oC.

70819166679.
CH,CH;
70819166680.
Br Cl lj
\Cl I/
"CN
70819166681.
CH,CHy
70819166682.

Question Number : 44 Question Id : 70819120507 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hydrolysis B

A b
373K (C4HgO)

(C4HgCl)
B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.

Options :
70819166683. 1,1-Dichlorobutane and Butanal

70819166684. 2, 2-Dichlorobutane and Butanal



70819166685, 1,1-Dichlorobutane and 2-Butanone

2 5_Di R i
70819166686. -~ Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120507 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A T ATEe B
(C4HgCl5) 73K 7 (C4H3g0)

B 7 EgIaTel SIS SRIGR AR HYGl W Therwdl gl &7 @, T A 9B 3w,

Options :
20819166683, I1-STHGERIC 3T FeATa

20819166684, 2-2-SITEIRIGCA T AT

20819166685, 1/ 1-SHFARISCT ST 2-FeHM

gl T8 — gy
70819166686, 22 STATIRIGCT ST Fe-2-3117

Question Number : 45 Question Id : 70819120508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Identify the major products A and B respectively in the following reactions of phenol :

OH

_ ) CHCly NaOH Br, in CS, @
=
(i) HyO* 273 K

Options:

70819166687.



OH OH

Br CHO
and
OH OH
and
70819166688, BT CHO
OH OH
Br
and
70819166689. CHO
OH OH
CHO
and

70819166690.  BY

Question Number : 45 Question Id : 70819120508 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
=TT el AMARFART TR BV U9E 9IS Ay A 3T B 3ToE.
OH

@ i) CHCly NaOFH CS, <l Bry
-
(ii) HyO* 273 K @

Options :




OH OH

Br CHO
3for

H
O

70819166687.

54

70819166688,  Bf CH

OH OH
Br
3oy
CHO
OH OH
CHO
o

70819166690.  Br

70819166689.

Question Number : 46 Question Id : 70819120509 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  o-Nitrophenol is steam volatile due to intramolecular hydrogen bonding,
Statement 1 :  o-Nitrophenol has high melting due to hydrogen bonding,

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819166691, Both Statement I and Statement 11 are true



70819166692. Both Statement I and Statement 1l are false

70819166693. Statement 1 is true but Statement 1I is false

70819166694. Statement 1 is false but Statement 1l is true

Question Number : 46 Question Id : 70819120509 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grell S T99r feefell 3&d

faum 1 : STV] BageA deH® o-AECIbHIe dih aTsg-ed Ie.
faum 11 : SRS d89Me o-TheGHieral duie §U 9= 32,

RIel el AgHS Wiellel YAEAgT Sk W 3 9e) 4.

Options :

20819166691, ST [AETT 1 ST 11 SR1ER 1.

20819166692 g2l fagr 1 anfor 11 gaET aed.

70819166693, 99 1 ISR 38 WY A€M 1 JHr e,

20819166694, 130T 1 gPTH 318 WY MHET 11 SRR 3Te.

Question Number : 47 Question Id : 70819120510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :

70819166695.



CH,CH,CH,NHCH,

1
70819166696, — 3-H2GHN—CHyCH,

NH —CH,CH,CHj
70819166697. :

CH,CH,NH,
70819166698. ~ - 2 2

Question Number : 47 Question Id : 70819120510 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

43 epHIe FaRIgeedl Ta] WISTEREY doicdl HFABITT TR Helel YT IR
AU faveed el & 3 SURel deiNiseel Mg - gaal Ud & STl SXIEN
BRG] e,

Options :

CH,CH
70819166695. e

70819166696, 3¢ 2CH2N—CHCH,

NH —CH,CH,CHj
70819166697. :

CH,CH,NH,
70819166698, - 2 2

Question Number : 48 Question Id : 70819120511 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Neoprene is :

Options:
—%—CHﬂ}k=CH——CHf——CH2 CH ]n
70819166699. CN
cl
70819166700.
—HN___N___NHCH,]-
Y )
xﬁ-ﬁ_‘ {N
NH
70819166701, |
L cH,——cr-]
[ 72 In
70819166702. =y

Question Number : 48 Question Id : 70819120511 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o=l wemr e

Options :

-{—CHﬂ}k=CH——CHf——CH2 CH—|

70819166699. CN

70819166700.



N L
NH
70819166701. |
]
[ CH—CH—-
70819166702. —

Question Number : 49 Question Id : 70819120512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819166703, Vitamin B

g
70819166704. Vitamin C

FET o .
70819166705, " iamin E

70819166706, " iamin K

Question Number : 49 Question Id : 70819120512 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Giels] DIV WaTaais Yaq NevarEl gieal e ?
Options :
70819166703, WIdT9d B

70819166704, wiaTad C

70819166705, Silgad E

70819166706, S H@E K

Question Number : 50 Question Id : 70819120513 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HESD__I, gas X is evolved which turns KgCrZD?
paper acidified with dil. H,50; to a green compound Y. X and Y respectively are :

Options :

X=50.,, Y=Cr.,(SO.
70819166707. 3 2(504)s

70819166708, ~~ 202 Y =Cr0;

70819166709. y g

X=50,, Y=Cr,(SO,);
70819166710. . i

Question Number : 50 Question Id : 70819120513 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U1 GGl 9T favel H,SO, Wiad A X ag Fmiv &l S K,Cr,0, =1 favet H,S0,
TN Feled] AT Fralen R Y WY a5, X Ay sFH 3Te.




Options :
X=50,, Y=Cr,(50),

70819166707.
70819166708, o0 ¥ =105
70819166700, o0 Y7120
70819166710, 0% ¥ 2504

Chemistry Section B
SectionId: 708191907
Section Number : 4
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911187
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120514 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 =< 10 3 is
Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819120514 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
50000.020 x 10 ~3 @1 §&G fHfbee feiar @& 3@,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120515 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
(dZ) . xb

b) =RT. The value of | —
VP 7

A certain gas obeys P(V

m
(Integer answer) (Z : compressibility factor)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

is —. The valueofxis .



Question Number : 52 Question Id : 70819120515 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T§ aY P(V,, - b)=RT &l |— wﬁﬁﬂﬁ“‘hmmﬁrm B )

\ dP T
(SR Quiidra) (@1 foand Z & sl gcd o)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120516 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+B=C+D

(A, H9=80 K] mol~!) the entropy change A S° depends on the temperature T(in K) as
A SP=2T (] K~ lmol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120516 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



A +B = C+ D (4H=80 K mol~!) & ffpZamdr Tiiriel g5t A SO TWAMER T(K)
A9 =2T 31 3deiqd Mg (J K~ 'mol 1)
W BT FA AGHAN O I Alsdl ¥ TN K 3@, (quied ¥

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819120517 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 502{ s at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The

: ) i e :
non-volatile sofute produced is dissolved in 36 g of water. The lowering of vapour pressure

[

of solution (assuming the solution is dilute) (f’(lizt}}=24 mm of Hg ] is ¥ 102 mm of Hg,

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120517 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL SDzﬂTg 298 K41 atm @ 100 mL 0.1 M NaOH =1 %1dUIlq Hiedl. TR Heicd]
HETTee YeTgiell 36 g UV fdvemdel GON Hieiel 21U fa¥el 38 ¥ WAG a1 SEKi
mm T8 F4 B xx1072 mm Hg ., WA feug AR,

1 P&ED} =24 mm Hg'ﬂﬁ) (E‘!!Jr'aﬁ d 9



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120518 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A homogeneous ideal gaseous reaction AB, Su A( 51 ZB(E is carried out in a 25 litre flask
at 27°C. The initial amount of AB, was 1 mole ami the equilibrium pressure was 1.9 atm.

The value of KI‘ is ¥ %10~ 2. The value of x is - (Integer answer)
[R=0.08206 dm®atm K~ 1 mol~1]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120518 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AByy = Ay + 2B TN T AG¥ T ST 27°C TIOHEIRT 25 L dgHEr el
Rardilenl AB, @1 U6 Hiel &1, WHdrendl & 1.9 atm BT Kpiﬁﬁmﬁpm 29@. W

[R=0.08206 dm’atm K~ mol ']

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 56 Question Id : 70819120519 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the following reaction
MnOjy +8H* +5e~— Mn*2+4H,0, E°=151 V.

The quantity of electricity required in Faraday to reduce five moles of MnOy is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120519 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Gleflel AHIHTT 4T =l

MnOy +8H™* +5e~— Mn*24 4H,0, E'=151 V.

e 5 del '.\11104 o] EUUIEIS] FTUINT beAsldl dil _ Udel e, (Wdowl

3

TIPIq)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 57 Question Id : 70819120520 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol L energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in kJ is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120520 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

X — Y & SWEr afifrderd |fpav St 30 K] mol ~lame. R & AffRE Sl ged
AE 20 k] o¥el T) epdl AfAfmawe kJ Adfie dfeaw ol . SR (Sde

qriPId)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819120521 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



3.12 g of oxygen is adsorbed on 1.2 g of platinum metal. The volume of oxygen adsorbed per
gram of the adsorbentat 1 atm and 300K inLis

[R=0.0821 L atm K~ ! mol -]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819120521 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

312 79 i 1.2 79 @ifcT gxE] JIfEeid e e X 1 atm ST 30T 300 K
[R=0.0821 L atm K~! mol /]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819120522 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 59 Question Id : 70819120522 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SHHYE AR AFANIEREY [hdl el AHdl TUN Heledl SdEMd Cr a1 Jlfddeis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120523 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [an{CD]lﬂ] is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120523 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



[Mny(CO),o] A1 HGTM
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

___ WEUR CO ¥g §9 (ferie) are.

Mathematics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Mark As Answered Required? :
Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

708191908
5

Online
Mandatory
20

20

80

Yes

1
7081911188

Yes

Question Number : 61 Question Id : 70819120524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
If 3 and ; are perpendicular, then a > +

Options :

70819166721. Y

1

iax b |:|| is equal to :



' 4
—‘a‘ b

70819166722, <

e
70819166723.|a‘ b

— =

70819166724, @ * b

Question Number : 61 Question Id : 70819120524 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TTFE; Hﬁmg Fﬁ{perpendicular] I, T a > (.a - |-a : | ax b ”) ELC
Options :
70819166721, !

| ; —}4 —

i ‘a‘ b

70819166722, <

:
70819166723.|a‘ b

— =

70819166724, @ * b

Question Number : 62 Question Id : 70819120525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



If (1,5,35), (7,5 9), (1, \,7) and (2\, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options :

70819166725. °

70819166726,  °

70819166727.

70819166728.

Question Number : 62 Question Id : 70819120525 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
S (1,5,35),(7,5,5), (1, A, 7) 30 (24, 1, 2) T TF Fqei (coplanar) #dldl, T A =41 4 Y

PR s =

HeAE! (all possible values) sU& 4.

Options :

70819166725. °

70819166726,  °

70819166727.

70819166728.



Question Number : 63 Question Id : 70819120526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3 and 2Zx+y=61is a :
Options :

70819166729, Right angled triangle

70819166730. Isosceles ’r:iangle

70819166731. Equilateral triangle

70819166732. None of the above

Question Number : 63 Question Id : 70819120526 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

x—y=0, x+2y=3 =1foT 2x +y=6 4 o T g9e (intersection) _ e,
Options :
70819166729. !

70819166730, T 1643 TAFTY
70819166731, S0 HAHT

70819166732, FATd=Hl HITIHET Tl

Question Number : 64 Question Id : 70819120527 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1){a+2) a+2 1
The valueof (a +2){(a+3) a+3 1|is:
(a+3)a+4) a+4 1
Options :
70819166733, @ T 1@ +2)@+3)

70819166734, (@ +2)(@+3)(a+4)

70819166735, — 2

70819166736. U

Question Number : 64 Question Id : 70819120527 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)a+2) a+2 1

@t2@+3) at3 N A
(@a+3)a+4) a+4 1

Options :

70819166733, @ T D@ +2)(@+3)
70819166734, (@ T2)(@+3)(a+4)

70819166735, — 2

70819166736. U



Question Number : 65 Question Id : 70819120528 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased h}-‘

2
\2
20% in 2 hours. If the population of bacteria is 2000 after 7 hours, then [ is
l0g [¢) loge2)
equal to :
Options :

70819166737, 2

.

70819166738.

o

70819166739.

70819166740, 16

Question Number : 65 Question Id : 70819120528 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U SHEEEE (culture) WEA SATE (bacteria) A1@ 2IVATE1 & 31 49 SHUF SaT=a GE&=d]
FHIIE (proportional) e A A 908 t=0 A S F2n 1000 e 2 TEEE

STEmET ' 20% A aed. W AAHT SEE T (population) 2000 M, ®

log, 2]

Options :

70819166737, 2

70819166738, 4



70819166739. 8

70819166740, 16

Question Number : 66 Question Id : 70819120529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
C}\\\;;iij::;jB X

Q
Options:

70819166741, 24V2

70819166742, 2433

70819166743, 2682

[
W

70819166744, 26V

Question Number : 66 Question Id : 70819120529 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el feere aqems, T OA =1 T, OB =13 TFE 370 PQ L OB, T B PQB 3 &%

(91 s gE) |
y

N
N

Options :

24 ﬁ

I

70819166741.
70819166742, 243

70819166743, 2682

[t
2‘\.
3]

70819166744.

Question Number : 67 Question Id : 70819120530 Question Type

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
de'ﬁ_%ﬁinl::{—": th) u.*m'l:% I h}li

The value of lim 2
h—0 | V3h(+/3cosh — sinh) ]

Options :

W|N

70819166745.

-_,.;|,4;..'

70819166746.

g

70819166747. V3

: MCQ Option Shuffling : Yes



W | 0o

70819166748.

Question Number : 67 Question Id : 70819120530 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 jxfiun{g-| h) —cos(Z +h)| . :
im 2 — S I (3 D |
h—0 | J3h(/3cosh — sinh) ] ™

Options :

W|N

70819166745.

70819166746.

2

70819166747, V3

3
70819166748, 4

Question Number : 68 Question Id : 70819120531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4

The maximum slope of the curve y = —x* — 5x% + 18x? ~ 19x occurs at the point :

b2 | =

Options:

70819166749, (0. 0)

2o
70819166750. (2 2)



70819166751. * =

70819166752, (2 9)

Question Number : 68 Question Id : 70819120531 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ot =503 4 18x% — 19¢ TN FEHTEI S I 98 (maximum slope) =1 fefed

Options :

70819166749, (0. 0)

257
70819166750. (2 2)

70819166751, =

70819166752, (2 9)

Question Number : 69 Question Id : 70819120532 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= COS_’:
1 +3

]

dx is:

Options :

ra |

70819166753.



=
)

70819166754,

!

70819166755.

70819166756, =™

Question Number : 69 Question Id : 70819120532 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ms

r COSZI
I 1+ 3%

=

dx 999 &

— W
iy

Options :

S

70819166753.

I
=

70819166754, 2

!

70819166755.

70819166756.

Question Number : 70 Question Id : 70819120533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819166757, 42



70819166758. *

=]
=l

70819166759.

i &
-2

70819166760.

Question Number : 70 Question Id : 70819120533 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

7 S YU (integers) = TEA, T SHIE! TS AR 10 A A T 1,2 A3 7 FF

Options:

70819166757, +2

70819166758, 2

]
=~

70819166759.

2
2

70819166760.

Question Number : 71 Question Id : 70819120534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 310

The maximum value of the term independent of “t’ in the expansion of | tx® 4

\ )
where xe (0, 1) is:

Options :

70819166761.



V3(51)*
2.10!
= 2
70819166762, V33!
210!

70819166763, ~')°

10!

5
70819166764, °')

Question Number : 71 Question Id : 70819120534 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
% 1110

1 )10 " . : z s
| tx? 4 %1 Sl xe (0, 1) &1 o (expansion) H¥ t =41 379 (independent) T
\ J

-

HeuH Yo (maximum value) &R

Options :
10!

70819166761, V35!

2.10!

. A
70819166762, V331

70819166763.

2
70819166764. A5!)



Question Number : 72 Question Id : 70819120535 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set :

Options :

S 2 g
70819166765, ° (& ¥) [ ¥ Hym=4]

T o e
70819166766, > & ¥) | Ty =2

i = i )
70819166767, > W& ¥) | ¥ +y”

i L T -:,_'
70819166768, °— ¥ ¥) | ¥+ = 2]

Question Number : 72 Question Id : 70819120535 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

el R=((P, Q) | P 01 Q ¥ 2Ry fagurgd TaM #awa e, ¥ U% HaY (relation) &, T
(1, —1) =0, T (equivalence class) TN TF AT,

Options :
5={x. 2+ y2=4
70819166765, 0 W& Y) [ X2+ yr=4)

- " -2 'j:j
70819166766, > (& ¥) | ¥ +y==2}

20 s i S
70819166767, > (& ¥) | ¥ +y°=Tj

) a s -_,:'
70819166768, > = (& ¥) [ ¥ +y7=12]



Question Number : 73 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819120536 Question Type : MCQ Option Shuffling : Yes

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819166769, !

70819166770. 4

70819166771, ©

70819166772, 12

Question Number : 73 Question Id

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: 70819120536 Question Type : MCQ Option Shuffling : Yes

THATA & ‘{UIWEEEHT:?I (integer entries) 2 ST THET AR (symmetric matrix) L. W
A2 =1 fa®u 9eFiE! (diagonal elements) =S 1 378e T 390 T SRR TR G

Options :

70819166769, 1

70819166770. 4

70819166771.

70819166772, ~<

Question Number : 74 Question Id

: 70819120537 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :
f-fy)| = |[@-y)? ¥ (x.y) e R
If f(0) = 1, then :
Options:

20819166773, /(¥ >0 7xe R

70819166774, /() <0, Fxe R

70819166775, /() =0, 7xe R

70819166776, /(%) can take any value in R

Question Number : 74 Question Id : 70819120537 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS (¥ R = FAfvad SO0 FonE we o oo e |
f)-fy)l = [ec-y?v¥(xyeR

1 FEE gaa 4, W f0) =1, W :

Options :

20819166773, /(¥ >0 7 xe R

20819166774, /¥ <0, 7xe R

70819166775, /() =0, 7xe R

’ t ?"\ - = - r
20819166776, [ = R T FIGE Tt 3 Tk



Question Number : 75 Question Id : 70819120538 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :
15
bt
70819166777. 2

12
70819166778. 2

70819166779.

15
14
70819166780. 2

Question Number : 75 Question Id : 70819120538 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TF AW (fair coin) e F@ (fixed number of times) F&Fd Tl &, W 7 BT (heads)
faamar= H=a (probability) & 9 BT fHavar=a | st=t e, T 2 B fHevar= Fur=d

Options :

b
70819166777. 2

12
70819166778. 2

70819166779.



15
14
70819166780. 2

Question Number : 76 Question Id : 70819120539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1 \
o sin X cos X tan 1 o g
If = = y 0 <x <1, then the value of CDS| | is :
a b c \a+b)

(L™

Options :

-

70819166781, 1 ¥~

-

ly‘
70819166782. VY

70819166783.

70819166784.

Question Number : 76 Question Id : 70819120539 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 -1 ; #
sin X cos X tan "1

E - - L. 0<x <1 cos|

a b C va+ b/

TC | -

R S

Options :

"

70819166781, 1 ¥~



2

-y
70819166782. VY

70819166783, L " V¥

2y
70819166784.

Question Number : 77 Question Id : 70819120540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

52
In an increasing geometric series, the sum of the second and the sixth term is . and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to:

Options :
70819166785. 26
70819166786. 20

70819166787, 32

L3

70819166788, 39

Question Number : 77 Question Id : 70819120540 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
25

)

T 9led S W gt (increasing geometric series) 74, T A1 TR LGE



Options :

70819166785. 26

70819166786. >0

70819166787. -

a2

70819166788, 2

Question Number : 78 Question Id : 70819120541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

) ) 2 7 12 17 22
The sum of the infinite series 1 ? [ 5 [ — [ *1,_4 [ —5 F o is equal to :
Options :
k.
70819166789, 4
n

70819166790, 4

13

70819166791. 4

15
70819166792, 4

Question Number : 78 Question Id : 70819120541 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Options :

9

70819166789, 4
u

70819166790. 4

13

70819166791, 4

15
70819166792, 4

Question Number : 79 Question Id : 70819120542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the three planes
Py : 3x+15y +21z=9,
P'2 :x—3y—z=>5, and
Py : 2x+10y +14z=5
Then, which one of the following is true ?

Options :

20819166793, |1 and P, are parallel.

20819166794. P'l and P'3 are parallc-l.

20819166795, F1v P2 and Py all are parallel.

70819166796, T2 0 Fy are perallel



Question Number : 79 Question Id : 70819120542 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Pl : 3x+15y+21z=9,
Foix—3y—z=5 oy
Py : 2x+ 10y +14z=5

Options:

20819166793, 1 FM0 P HHIG (parallel) e

20819166794, L1 201 Py AT STEd.

70819166795. P,, P, S P, Hed (all) HHIG SATed.

20819166796, P2 FMM Py HHIGL e,

Question Number : 80 Question Id : 70819120543 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
100 n

The value of :L | e* k] dx, where [ x] is the greatest integer < x, is :
n=1 n-1

Options :

70819166797, 100(1—¢)

70819166798, 100(1+e)

70819166799, 100e



70819166800, 100(e —1)

Question Number : 80 Question Id : 70819120543 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

00 no . n
¥ | (<] gy 9YF___ #Ak 9=l [x] 1 HeH YUIF B (greatest integer function)

n=1 p-1
<y e,
Options:

70819166797, 100(1—¢)

70819166798, 100(1+e)

70819166799, 100e

70819166800, 100(e —1)

Mathematics Section B

Section Id : 708191909
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 7081911189

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120544 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

,a>0is__ .

p : 2 i a |
of curves given b}-‘ W= al X T
\ =/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120544 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

EEQK] F (family of curves) yz = a[x I g ,a> () 7 FHIEH et A A SHE

L =

oot THw (differential equation) T FRE (degree) 30T FH (order) T T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120545 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120545 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

23— 2024 2x—1=0 TN FHIHOT=A Jai1 162 1 H0 (power) =t oie
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120546 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—-2|1is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819120546 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

y=|x—1|-2 1 Tt Qﬁﬂo_s’{boundedj Felel R 5ottt M.
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120547 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dJ’ siny

If y=y(x) is the solution of the equation Ohm‘fCOSyE e cosx = cosx, y(0)=0; then

o (m) B (w) 1 (m)
14 y|kgj | ?y|;J | \_fi”bj is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819120547 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e d % N X } :
T Y cosy ay +e"™ cosx = cosx, y(0) =0 A HHIFIUTH! y=y(x) & IFdA HAE, W

' P fa 7 i,
1|y|1||ﬁy|'—7||i,_y|3|afm M
Y, P s 1 N Ll . =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819120548 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819120548 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

log,(x—1)=log,(x—3) = U] ST e (number of solutions) ~~~~ #E
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120549 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120549 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

K= ‘{Uﬁqﬁ Hﬁﬁﬁ (integral values) H&AT =1 TR 3sinx +4cosy=k +1 1 HHHE] e
A keR &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120550 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let (A, 2, 1) be a point on the plane which passes Lhmugh the point (4, -2, ..). If the plane is
perpendtcular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

A A
| i 4 isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120550 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T (A, 2, 1) @ UF o5 YaomeR A% A G 9a (4, -2, 2) o faenyd 90, ® T e
(—2, ~21, 29) &0 (~1, —16, 23) A fagA1 SiewF =1 @4 (perpendicular) e, T

J.
© A : g
—— =4 S e,
|ll; 11

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120551 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120551 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Isin?.x dx o1 YUl (integral) 9 o4 &
0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120552 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f \.E{mszx) = (3 ~ 1)cosx + 1, the number of solutions of the given equation when

re |

|
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 89 Question Id : 70819120552 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

mlqﬁ{coszx') = (3 = 1)cosx + 1, T feoTea GHHOT=N IFcrar Gem dea1 1€ |0, ;‘

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120553 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Letm,ne Nand ged (2, n)=1. If 3“"3[]‘-‘ I 29(#[}1 i | Zf_"!,[]‘-‘ | ]f_";[] | =n-2™, then
0/ Tl1 28)  |29)

ntmisequalto .

¥,
‘n)
Here ‘
\ u.k;

4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120553 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



| (30
A9l m,n= N ?ﬂTﬁTlgcd (2, n)=1 X 3[]' 0

n+m T HAle.

‘n)

k

N

-

pb

o]
/

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

) | jg|’.3[]"| | I jlff}[]
) 2 b= 2 s

) (30)
. _ ...l
Illzg‘—nZ , ™
J =y




